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PART ONE

1. Vocabulary and Structure. (10 points, 1 point for each.)
MTFFIR G RIS  — N RAEE R, RS L T R B,

1. His theory is very difficult, but people understand it.
A. afew B. few C. alittle D. litle
2. Well-mannered children have usually been properly by their parents.
A. raised up B. brought up C. kept up D. grown up
3. He wants to read a book, is most unusual for him.
A. which B. that C. this D. what
4. We want the new library as soon as possible.
A. to have been set up B. to be set up
C. being set up D. set up
5. One of my saying is “where there is a will, there is a way” .
A. favorite B. alike C. favorable D. likely
6. I didn’t buy the apples; she gave them to me nothing .
A as B. for C. in addition to D. due o
7. Another two hours necessary for me to finish the report.
A. were B. are C. will have been D. is
8. Dick looks forward to from her, but he is often disappointed.
A. hear B. be heard C. hearing D. have heard
9. Those self-centered people usually make the most severe demands on other people without giv-
ing anything _
A. in charge B. in store C. in retun D. in tum
10. 1 didn’t hear because there was too much noise where I was sitting.
A. what did he say B. what he said
C. what was he saying D. what to say

II. Cloze Test. (10 points,1 point for each.)
THEXFATNMEA, BN S EAEAET, BEF T XEREEBESR, HE

1



BREAR LA RN TR R

Cars are an important part of life in the United States. Without a car most people feel that
they are poor. And even if a person is poor he does not feel really poor if he has a car.

There are three main reasons the car became so important in the United States. First of all
the country is a huge 11 and Americans like to move around in it. The car provides the most
comfortable and convenient form of transportation. 12 a car people can go any place without
13 a lot of money.

The second reason cars are _ 14 s the fact that the United States never developed an
convenient and _ 15 form of public transport . Long-distance trains have never been as common
in the United States as they are in other parts of the world. Nowadays there is a good system of
air-service _ 15 by planes. But it is too expensive to be used 17

The third reason is the most important one, though. The American spirit of independence is
__18  really made cars popular. Americans do not like to wait for a bus, or a train or even a
plane. They do not like to have to follow an exact 19 . A car gives them the freedom to

schedule their own time. And this is the 20  that Americans want most to have.

11. A. one B. thing C. country D. place

12. A. In B. For C. Having D. With

13. A. costing B. spending C. using D. charging

14. A. beloved B. customary C. popular D. common

15. A. expensive B. comfortable C. suitable D. inexpensive
16. A. provided B. providing C. supported D. supporting
17. A. regularly B. frequently C. occasionally D. rarely

18. A. what B. that C. why D. this

19. A. program B. index C. schedule D. list

20. A. freedom B. free C. independent D. independence

HI. Reading Comprehension. (30 points, 2 points for each. )
MR B g SO I S B4 B S B 0T h i H — RS R, FRTE S B4 A
7T RER R

Passage One

Questions 21 to 25 are based on the following passage.

A computer is a machine designed to perform work mathematically and to store and select
information that has been fed into it. It is run by either mechanical or electronic means. These
machines can do a great deal of complicated work in a very short time. A large computer, for ex-
ample, can add or subtract nine thousand times a second, multiply a thousand times a second, or
divide five hundred times a second. Its percentage of error is about one in a billion billion digits.
It has been estimated that human beings making caleulations average about one mistake per two
hundred digits. .

The heart of an electronic computer lies in its vacuum(E %S ) tubes, or transistors. Its elec-



tronic circuits work a thousand times faster than the nerve cells in the human brain. A problem
that might take a human being two years to solve can be solved by a computer in one minute, but
in order to work properly, a computer must be given instructions—it must be programmed.

Computers can be designed for many specialized purposes. They can be used to prepare
payrolls, guide airplane flights, direct traffic, even to play chess. Computers play an essential
role in modern automation( 5 354k ) in many plants and factories throughout the world.

21. A computer is a machine designed to

A. perform work mathematically B9 perform complicated calculations
C. store and select information D. all of the above
22. The speed with which an electronic computer works depends on its
A. electronic circuits B. vacuum tubes, or transistors
C. programmer D. instructions
23. According to the passage, computers play an essential role in
A. automation processes B. mathematical computations
C. traffic control D. the development of mathematical theory

24. The use of computers for specialized purposes depends on‘the
A. design of the computer
B. power used to operate the computer
C. difficulty of the mathematical calculations involved
D. the ability of the electronic circuits
25. The passage implies that human beings differ from computers in that human beings

A. make fewer errors B. do not have to be programmed
C. work more quickly D. understand their instructions
Passage Two

Questions 26 to 30 are based on the following passage.

People of this century are trying to ensure safety in businesses. Large businesses have come
to realize that they can not afford the loss in efficiency that an attitude of carelessness can cause.
Moreover, both they and insurance companies are concerned with safety precautions in order to
decrease the cost of workmen’s compensation, not to mention the loss of business to competitors
through charges of incompetence. Humanitarianism and growth of social consciousness have been
other factors in the safety movement. Terrible fires in factories have brought about laws that
buildings must be constructed of fireproof materials and be provided with fire escapes. Complaints
about shocks and bums from electrical appliances have given rise to directions that all such de-
vices must be tested before being marketed. Sea disasters such as the sinking of the steamship Ti-
tanic have resulted in orders that ships must carry reliable radios and enough lifeboats to accom-
modate all the passengers and crew. Explosions have effected provisions that mines must be held
up with supports, and ventilated ({25 {3 ) to remove gas fumes.

26. With what subject is the passage mainly concemed?
A. The loss in efficiency. B. Safety in businesses.



C. Fires in factories. D. Explosions in mines.
27. It can be inferred from the passage that

A. many people are concerned with safety in businesses nowadays

B. large businesses can afford the loss in efficiency

C. small businesses do not care much about safety

D. many businesses suffer a great loss every year because of their workmen’s carelessness
28. Which of the following is mentioned in the passage?

A. Every year insurance companies lose a great amount of money because of their careless-

ness.

B. Insurance companies have taken effective measures to decrease their loss.

C. Some insurance companies are afraid of providing fire insurance.

D. Many workers have had their lives insured because they are afraid of sudden accidents.

29. Laws that buildings must be constructed of fireproof materials have been established because

A. insurance companies are afraid of suffering a huge loss

B. fireproof materials are available now

C. some destructive fires have caused great losses

D. complaints about fires have attracted business directors’ attention
30. It is implied in the passage that

A. the sinking of Titanic was the biggest sea disaster in history

B. explosion caused the sinking of Titanic

C. crew’s bad operation resulted in the sinking of Titanic

D. there were no reliable radios on the steamship Titanic

Passage Three

Questions 31 to 35 are based on the following passage.

Sandwich, Massachusetts, is an interesting place to visit. Every known type of glassware
was made in Sandwich—blown, molded, and pressed. The glass was famous in its day. Yet,
despite the success of the plant, production ended in 1888 in a labor dispute in which the owners
closed the plant rat};er than meet the workers’ demands. In the 63 years that the factory was in
operation, more than § 30 million worth of glass was made there. Today Sandwich glass is highly
prized by collectors, which makes the Museum and its famous collection popular with lovers of
antiques( 7 BT ) . Reproductions of Sandwich glass are sold at many of the gift shops in and
around the town, while antique dealers demand high prices for the original glass pieces.

Another attraction in Sandwich is the Yesteryears Doll Museum. Yesteryears Doll Museum
was founded by a retired Army Colonel, R. F. Thomas and his wife. Mrs. Thomas began col-
lecting dolls in Europe and the Far East while her husband served tours of duty in those areas.
Today, her collection of 3,000 dolls and doll houses is valued at more than a million dollars.
31. The author points out that Sandwich glass

A. was not popular until the glass plant closed



B. was more expensive a hundred years ago than today
C. was pressed in England and molded in Sandwich
D. has been famous for nearly 160 years

32. Genuine Sandwich glass can be bought today at

A. several museums B. antique shops
C. the original factory D. local gift shops
33. The dolls of the Museum are worth more than
A. one million dollars B. 30 million dollars
C. three thousand dollars D. 10 thousand dollars

34. The third sentence in Paragraph 2 suggests that .
A. Mr. and Mrs. Thomas liked travelling all over the world
B. Mrs. Thomas felt happy travelling with her husband
C. The dolls for Yesteryears Museum are collected directly by Mrs. Thomas
D. Yesteryears Museumn was founded under the proposal of Thomas
35. According to the passage, people pay a visit to Sandwich mainly for

A. well-known glassware B. automobiles
C. beautiful scenery D. iron and steel
PART TWO

IV. Word Spelling. ( 10 points, 1 point for two words. )
FEFFIDGER I R EE. ERER, B RFENAR ETFERTFERYE S K.

R SR R IR SR A b,

36. SLEM a. S
37. & n. w_

38. 7R u. b_

39. A n. P
40. THE a. a__

41. PEMTHK ad. s

42. ¥l n. m__

43. W v. S _

4. B3 n. e__

5. BEXW . i

46. W vt b_

47. FKE n. v

48. HHEK a. m__

49. HEHM a. s

50. BB n. e__

51. K5 a. m__

52. 54t n. p_



53. 58 n. c
54. i&F n. |

55. M5 w. P

V. Word Form. (10 points, 1 point for each. )

BiES TR MELNEREATO, EREEEER L.

56. If you become better, wiser or kinder, you won’t (suffer) during the process.

57. The class ' (consist) of 62 students is both the biggest and the best in the universi-
ty.

58. You can cut yourself off from opportunity in life if you have a (close) mind.

59. He said the meeting (postpone) till next Friday.

60. This remarkable girl was sent to me in (respond) to my request for a suitable sec-
retary.

61. At present, fourteen-hour workdays have already disappeared in most (industry)
countries. :

62. Do not be carried away by your own (imagine) .

63. We are researching on the possibility of (survive) in that region.

64. (suppose) you were a soldier, what were you going to do?

65. The foreigner had great difficulty making himself (understand ) .

VI. C-E Translation. (15 points,3 points for each. )
B TIOBARREEFEEREALTEK L,
66. X% ANPRARFR R MR RY —FR,
67. FTigfuet, REA e py s RetE, R T REETFFESR,
68. REMEMER —HBRBERAGEBNRAERE,
69. HBKEME, REEFHNBELRINALBEANERGNEASBL,
70. X3 K FE AT {RFRA/NT 85 2 B R T I

VII. E-C Translation. (15 points. )
BT SGRRIGE B EREHEEBK L

A smile is a strong sign of a friendly and open attitude and a willingness to communicate. It

~]

is a positive, silent sign sent with the hope the other person will smile back. When you smile,
you show you have noticed the person in a positive way. The other person considers it a compli-
ment(#§ &) and will usually feel good. The result? That person will usually smile back .
Smiling does not mean you have to put on false face or pretend you are happy all of the
time. When you see someone you know, or would like to make contact with, smile. You are

showing an open attitude to conversation.
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PART ONE

I. Vocabulary and Structure. (10 points, 1 point for each.)
M3 &4 YA~ E T *ii&—’ﬁ%&%‘%,#E%@%L%ﬁmﬂﬁ?ﬂ?ﬁ?%o

1. Bad-mannered children have usually been brought up by their parents.
A. properly B. improperly C. proper D. improper
2. Such an error this can be avoided, if you are more careful.
A. with B. like : C. for D. as
3. The new research is producing theories, which long-held views about animals.
A. disagree B. challenge C. compete D. mislead
4. All available means to save the people who are severely injured in the traffic acci-
dent.
A. has adopted B. has been adopted
C. have been adopted D. had adopted
5. I'll leave him a note he’ 1l know where we are.
A. in order B. so that C. now that D. in case
6. According to they have told me, they should return within five days.
A. that B. what C. any D. which
7. I remember having read about it in  magazine.
A. some B. one C. the other D. any
8. A fox fur coat costs as a sheep fur coat.
A. twice more than B. two times more than
C. twice as many D. twice as much
9. You should not always him to settle an argument, no matter what was being dis-
cussed. ;
A. believe in B. call on C. count on D. find out
10. Johnson is determined to get a seat for the football match it means standing in a

queue all night.
A. even if B. asif C. provided D. whatever



I. Cloze Test. (10 points, 1 point for each.)

THEXFEHAEA, BOEAANENEI, 8B T CERERREER, T
ERRAC ERARR Y TR R

It is clear that everyone 11  sleep. Most people rarely think about 12 and why they
sleep, however. We know that if we sleep well, we feel rested. If we don’t sleep 13, we
often feel tired and irritable( 5 X)) . It seems there are two 14 of sleep: physical rest and
emotional and psychological rest. We need to rest our 15  and our minds. 16 are im-
portant in order for us to be healthy. Each night we 17 between two kinds of éleep: 18
sleep and passive sleep. The passive sleep gives our body the rest that’s needed and prepares us
for active sleep, in which dreaming occurs.

Throughout the night, people alternate between passive and active sleep. The brain rests,
then it becomes active, then dreaming occurs. This cycle is 19 several times throughout the

night. 20  eight hours of sleep, people dream for a total of one and half hours on the

average.
11. A. needs B. need C. wants D. like
12. A. what B. when C. how D. however
13. A. more B. over C. on D. enough
14. A. kinds B. ways C. purposes D. aim
15. A. souls B. bodies C. physics D. brains
16. A. Either B. Neither C. Both D. All

17. A. exchange B. altemate C. change D. switch
18. A. active B. positive C. complete D. pure
19. A. repeated B. reoccurred C. recited D. stopped
20. A. Through B. In C. For D. During

III. Reading Comprehension. (30 points, 2 points for each. )
AT B BERS R SR RIS P 48 9 D S BT o ik — B RS R, FRTE B AR B A
L) FRER B o

Passage One

Questions 21 to 25 are based on the following passage.

We find that bright children are rarely held back by mixed-ability teaching. On the cont-
rary, both their knowledge and experience are enriched. We feel that there are many disadvan-
tages in streaming pupils. It does not take into account the fact that children develop at different
rates. It can have a bad effect on both the bright and the not-so-bright child. After all, it can be
quite discouraging to be at the bottom of the top grade!

Besides, it is rather unreal to grade people just according to their intellectual ability. This
is only one aspect of their total personality. We are concemed to develop the abilities of all our
pupils to the full, not just their academic ability. We also value personal qualities and social
skills, and we find that mixed-ability teaching contributes to all these aspects of leaming.

8



In our classrooms, we work in various ways. The pupils often work in groups: this gives
them the opportunity to leam to co-operate, to share, and to develop leadership skills. They also
learn how to cope with personal problems as well as learing how to think, to make decisions, to
analyze and evaluate, and to communicate effectively. The pupils learn from each other as well as
from the teacher. Sometimes the pupils work in pairs; sometimes they work on individual tasks
and assignments, and they can do this at their own speed. They also have some formal class
teaching when this is appropriate. We encourage our pupils to use the library, and we teach them
the skills they need in order to do this efficiently. An advanced pupil can do advanced work: it
does not matter what age the child is. We expect our pupils to do their best, not their least, and
we give them every encouragement to attain this goal.

21. In the passage the author’s attitude towards “mixed-ability teaching” is

A. critical B. questioning C. approving D. objective
22. By “held back” in the first paragraph the author means “ "

A. made to remain in the same classes B. forced to study in the lower classes

C. drawn to their studies D. prevented from advancing

23. The author argues that a teacher’ s chief concem should be the development of the student’ s

A. personal qualities and social skills B. total personality
C. learning ability and communicative skills D. intellectual ability
24. Which of the following is NOT mentioned in the third paragraph?
A. Group work gives pupils the opportunity to learn to work together with others.
B. Pupils also leam to develop their reasoning abilities.
C. Group work provides pupils with the opportunity to leam to be capable organizers.
D. Pupils also leam how to participate in teaching activities.
25. The author’s purpose in writing this passage is to .
A. argue for teaching bright and not-so-bright pupils in the same class
B. recommend pair work and group work for classroom activities
C. offer advice on the proper use of the library

D. emphasize the importance of appropriate formal classroom teaching
Passage Two

Questions 26 to 30 are based on the following passage.

Going back as far as I can remember as a child in an Indian community, I had no sense of
knowing about the other people around me except that we were all somehow equal. .. There was
only one class. Nobody was interested in getting on top of anybody else.

You could see it in our games. Nobody organized them. There weren’t any competitive
sports. But we were involved in lots of activity and we were organized, but not in the sense that
there were ways of finding out who had won and who had lost. We played balls like everyone
else, but no one kept score. Even if we did formally compete in the games we played, no one was

a winner though someone may have won. It was only the moment. If you beat someone by pulling

9



a bow and arrow and shooting the arrow further, it only meant that you shot the arrow further at
that moment. That’s all it lasted. It didn’t mean you were better in any way whatsoever. It just
meant that at that particular time the arrow went further; maybe it was just the way you let the
bow go. These kinds of things are very important to me and that is why I am talking about them.

One of the very important things was the relationship we had with our families. We didn’t
always live at home. We lived wherever we happened to be at that particular time when it got
dark. If you were two or three miles away from home, then that is where you slept.
26. According to the writer

A. all the people were kind and equal in different activities

B. all the people quarreled with each other in every aspect

C. people often took part in different fightings

D. every child tried to climb to the top of all the activities
27. In the third sentence of Paragraph 2, the word “competitive” means .

A. cooperative B. mutual C. yielding D. fighting
28. From this passage, we can infer that

A. they pretended to lose when they could win in their activities

B. they didn’t think it was very important who was the winner among their activities

C. they didn’t hold any activities which could produce winners or losers

D. they thought it was a good idea that no one couldb win in their activities
29. In their community, it was said that .

A. people could spend their nights everywhere whether it was their home or not

B. people only served their relatives and friends to spend their nights at home

C. people had to return to their home to spend their nights whether they were far away or not

D. strange people had to spend their nights on the field when it got dark
30. We can learn from this passage that the writer

A. didn’t like to go back to his hometown

B. was afraid of their hard life

C. couldn’t forget his wonderful childhood

D

. wanted to take part in some activities

Passage Three
Questions 31 to 35 are based on the following passage.

It is natural for young people to be critical of their parents at times and to blame them for
most of the misunderstandings. They have always complained, more or less justly, that their par-
ents are out of touch with modem ways; that they are possessive( 578 #X38#) and dominant;
that they do not trust their children to deal with crises; that they talk too much about certain
problems—and that they have no sense of humor, at least in parent-child relationships. I think it
is true that parents often underestimate their teenage children and also forget how they themselves
felt when young.

Young people often irritate their parents with their choices in clothes and hairstyles, in en-

10



tertainers and music. This is not their motive. They feel cut off from the adult world into which
they have not yet been accepted. So they create a culture and society of their own. Then, if it
turns out that their music or entertainers or vocabulary or clothes or hairstyles irritate their par-
ents, this gives them additional enjoyment. They feel they are superior, at least in a small way,
and that they are leaders in style and taste.

Sometimes you are resistant, and proud because you do not want your parents to approve of
what you do. If they did approve, it looks as if you are betraying your own age group. But in that
case, you are assuming that you are the underdog: you can’t win but at least you can keep your
honor. This is a passive way of looking at things. It is natural enough after long years of child-
hood, when you were completely under your parent’s control. But it ignores the fact that you are
now beginning to be responsible for yourself.

31. According to the author, young people have all the following complaints about their parents

EXCEPT that

A. they are out of touch with modern ways

B. they have no sense of humour

C. they forget how they themselves felt when young

D. they are possessive and dominant
32. The reason why young people prefer those strange clothes and hairstyles is that

A. they want to irritate their parents '

B. they want to show their existence by creating a culture and society of their own

C. they want to be leaders in style and taste

D. they want to have some additional enjoyment
33. Young people don’t want their parents to approve of what they do, because .

A. they feel superior to their parents

B. they are too resistant and proud

C. they are responsible for themselves !

D. they have a strong desire of being independent
34. The author thinks that young people’s attitude of being resistant and proud is
A independent B. irresponsible C. critical D. passive
35. What does the word “underdog” in Paragraph 3 mean?

A. oppressor(iH# ) B. loser C. fighter D. opponent( JZ X135 )

PART TWO

IV. Word Spelling. (10 points, 1 point for two words. )
o THDOE IR RIE, FENRR, B EEAR B TFRRTFRERIT A S,
TR e ) B B AR AR |

36. RE ST n. i o
37. B ot
38. KEL¥ n. m _

11



